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M N=
2 g = &= =& SN 2 g = g=x =& SN
0 0 0| Abettl S| 2122l | 1,300,000| 1,450,000 150,000
0 0 0| Arettl S| o=l 480,000  720,000| 240,000
0 0 0| Aret S| olZH| 120,000]  320,000] 200,000
0 0 0| Abett S| o1 2t 0| 2,050,000| 2,050,000
0 0 0| Atestl AbgiHl SEEEL M1 1,840,000 2,340,000] 500,000
0 0 0| Artbl N SigME A 2.600,000) 2,600,000 0
0 0 0| Arett AriH| At 520,000  6,020,000| 5,500,000
IS 77.143,000| 84,520,000 7,377,000 NESY 77.143,000| 84,520,000 7,377,000
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— - = = SZH=2
o 8 = oz =2 =204 dine
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o2 A 0 3,965,910 3,965,910
EERY] 0 3,965,910 3,965,910
Mg | =2 zaol JIEFOIS O 15,000 15,090 90 0.60
Z AKX ALCH 50,00020% 1220 2=600,0002
IIEFR2 2 1,089,780 3,500,000 2.410.220| 22117 | SAAL G 00002 12200
Zaol A 1,104,780 3,515,090 2,410,310
Zaol A 1,104,780 3,515,090 2,410,310
TIPS 77,143,000 84,520,000 7,377,000
HZE | A2 o121y 20 24,927,000 24,696,000 A231.000| A0.93|71=233552 2,058,000« 1274 2=24,696, 0002
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ATIEE 36162 2802 %0 7%=253 1302
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